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Answer ALL questions. -
PART A~ (10 x 2 = 20 marks)

Define Objects and classes in java. -

. - ~
- Define access specifier.

~ What is object cloning? :

What is class hierarchy? Give example.

Define runtime exceptions.

What is the use of assert keyword?

What is multithreading?
What is the need for generic code?
What is meant by window adapter classes?

Enumerate the featurés of AWT in Java.
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: (a)

(a)

@) | E.xplam the cha1 acteustlcs of OOPs : ', - ‘. {6)
- (i) Explain the features _and the eharacteri_stics of JAVA. o (D
| ._ ;Or : :
® - What is method? Hofy methiod is defined? Give'examplé. e

®)

(a) '.

- (b

(a)

®
@ .
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- PART B — (5 x 18 = 65 maxks)

(i) State the purpose of fmahze() method in java? W1th an’ example
exp1a1n how ﬁnahze() method can be used in Java ploglam (N

Define Inhentance W1t11 d1aglammatic 1Hust1at1on and java pmglams'
. _'ﬂlustlate__the different types of mhemtance with an example. - (13

Or

Wnte a Java program to meate a student exammatlon database system

“that prints the mark sheet of students. Input student name,’ ma1ks in 6
subjects T]ns ma1k should be between 0 and 100

“If the aver age of ma1ks is > = 80 then prmts Grl ade ‘A’
; If the average is <80 and > = 60 then pnnts Gr ade ‘B’ '

" Ifthe avexage is <60 and >= 40 then plmts Glade ‘C

:else p11nts Gtade . . k N -. o o ’(13)

Explain the dlffelent types of exceptions and the exceptmn hierarchy in

-java with applopuate examples S S (13)-
‘ .O_r'_

" What are input and output streams? Explain'thmn with illlustratiqns.- (13)-:

‘ Expiain-in detail the. different states .o-f _a,threacl. I '7,(1-3) _
Demonstrate Inter thlead Cemmumcatmn an'd .suspendmg, 1esunung
and stopping tlneads . o S S € X))
State and explam the bas1c of AWT Event handhng in: detaﬂ -. - (13)

Describe in detail about the d1ffe1ent layout in J ava GUI Which layout is
 the default one? . : . o - (13)
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T - PARTC—(1x15=i5ma1'I{s). '

Cleate a Bank database apphcatlon p10g1a1n to 111ust1ate the use of
multltlneads :

01'.

Code a java program to 1mp1ement the followmg Cleate four check boxes.

The initial state of the first box should bein checked state. The status of
each check box should be displayed. when we change the state of a check ‘

‘box the status should be dlsplay is updated
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